
August  

ANSWERS Year 5-6 Maths calendar  

1. 1,035 

2. 1:15pm 

3. 5.47 

4. 325,210 

5. 5 2/3 

6. 4 

7. 5, 17, 19 

8. 0.35 

9. 92cm + 98cm + 96cm + 90cm = 376. We then divide 376 by 4 to get 94cm. 

10. 0.5, 0.52, 0.528, 0.6, 0.68 

11. £11.25 

12. 61 

13. 8 vertices  

14. -7  

15. An angle less than 90 degrees  

16. 12 

17. 3cm 

18. 112 

19. 56 

20. 91,172 

21. 12 

22. Draw net of cylinder  

23. 125 grams  

24. 7820 m  

25. 42.5 cm 

26. Draw a clock showing 7:45 

27. 23 max 

28. 8:45 am 

29. Five 50p coins 

30. 0.84 

31. 945 


